We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to: BRIGHT AUTO PARTS REPAIR SERVICES

PHILGEPS Reg.

313093

| QTY. | UNIT OF ISSUE | ITEM & DESCRIPTION | UNIT PRICE | TOTAL PRICE |
|-------------|---------------|--|------------|---|
| | | GT#10 Plate No: SFW-484 | | |
| | | Engine No: 6GBI-792434 | | |
| | | Chassis No: FRR12DA-3608967 | | |
| 1 | pc | Oil seal inner | 1,200.00 | 1,200.00 |
| 1 | рс | Oil seal outer | 1,400.00 | 1,400.00 |
| 4 | pcs | Clamp | 50.00 | 200.00 |
| 2 | pcs | Teflon tape | 20.00 | 40.00 |
| 5 | blts | Grease 500 g | 420.00 | 2,100.00 |
| 2 2 | pcs | Hose clamp big | 75.00 | 150.00 |
| | pcs | Epoxy | 380.00 | 760.00 |
| 1 | рс | Thermostat | 16,000.00 | 16,000.00 |
| 4 | gals | Engine diesel oil | 3,200.00 | 12,800.00 |
| 10 | pcs | Fuse assortment | 250.00 | 2,500.00 |
| 1 | рс | Flasher relay | 380.00 | 380.00 |
| 3 | pcs | Clearance light (B) | 380.00 | 1,140.00 |
| 4 | pcs | Clearance light (small) | 380.00 | 1,520.00 |
| 3 | pcs | Power relay 24V | 1,200.00 | |
| 1 | pcs | Headlight | 1,800.00 | 1,800.00 |
| 2 | pcs | Tail light L/R | 1,600.00 | 3,200.00 |
| | pcs | Clearance light 24V | 380.00 | 760.00 |
| 1 | рс | Oil seal | 480.00 | 480.00 |
| 2 | pcs | Fan belt Engine valve | 800.00 | 1,600.00 |
| 1 | set | Engine valve | 12,000.00 | 12,000.00 |
| 1 | set | Valve seal | 2,800.00 | |
| 1 | set | Overhauling gasket | 19,800.00 | |
| 1 | set | Valve guide | 2,800.00 | |
| 1 | lot | Machine shop - Cyclinder valve seat ring | 38,000.00 | 38,000.00 |
| | | replace of valve guide, resurface, washing | | , |
| 2 | pcs | Battery 3SM | 9,800.00 | 19,600.00 |
| 1 | lot | Labor - Repair of wiring harness | 32,000.00 | 32,000.00 |
| 3 | pcs | Tire 825x20 | 20,000.00 | 60,000.00 |
| 3 3 3 | pcs | Tube | 950.00 | |
| 3 | pcs | Flap | 450.00 | 1,350.00 |
| | | | | |
| | | SUB TOTAL 1 | | 242,830.00 |

IN WITNESS WHEREOF, we hereby affix our signatures this_

DULCE AMOR E. LAO
Planning Officer III

BAC Member

JEROME R. BAROFLONA JR LPT

Administrative Office V

BAC Member

Dr. FEBY DAR C. MANGLICMOT

ENGR. MOSS L SIMBAHAN

Engineer II

BAC Member

City Veterinarian **BAC Vice - Chairperson**

VIELS ACEPILLO

city legal Officer BAC Chairperson

2025.

WILFREDO & LANDICHO

the City of Calapan.

City ENRO

Approved by:

MARILOU F MORILLO

City Mayor

Award 2021 v. 0

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

BRIGHT AUTO PARTS REPAIR SERVICES

PHILGEPS Reg. No.

313093

| | Awarded to. | BRIGHT AUTO PARTS REPAIR SERVICES | PHILGEPS Reg. No. | 313093 |
|------|------------------|-----------------------------------|-------------------|-------------|
| QTY. | UNIT OF ISSUE | ITEM & DESCRIPTION | UNIT PRICE | TOTAL PRICE |
| | | CENRD MOTOR POOL | | |
| 1 | set | Acetelyne/Oxygen (refill) | 6,600.00 | 6,600.00 |
| 1 | рс | G.I sheet #16 | 4,800.00 | 4,800.00 |
| 2 | box | Welding rod (special) | 1,950.00 | 3,900.00 |
| 1 | box | Welding rod stainless | 3,000.00 | 3,000.00 |
| 2 | kls | Tie wire #16 | 150.00 | 300.00 |
| 1 | ос | round bar stainless 1/4 | 1,380.00 | 1,380.00 |
| 4 | box | Cutting disc stainless steel | 2,500.00 | 10,000.00 |
| | | GT #5 Plate No: 7116 | | 10,000.00 |
| | | Engine No: NRR32C1-300422279 | | |
| | | Chassis No: 6HE1-855919 | | |
| 2 | sets | Tire 825x16 | 18,000.00 | 36,000.00 |
| 2 | pcs | Tube | 950.00 | 1,900.00 |
| 2 | pcs | Flap | 450.00 | 900.00 |
| | | GT# 4 Plate No: U5D730 | | |
| | | Engine No: YC4D13033D363500194 | | |
| | | Chassis No: LEZAD1CB3PF113576 | | |
| 1 | set | Cross joint | 13,200.00 | 13,200.00 |
| | | GT # 8 PLATE NO. SFW 775 | | , |
| | | ENGINE NO. 6BG1-678683 | | |
| | | CHASSIS NO. SRR12DA-3603935 | | |
| 1 | set | Hydraulic hose w/fittings | 2,800.00 | 2,800.00 |
| 1 | pc | Stop light switch | 1,200.00 | 1,200.00 |
| | | GT #12 Plate No: CAD-7890 | | |
| | | Engine No: 6HEI-862589 | | |
| | | Chassis No: NRR32C1-3003614 | | |
| 2 | pcs | Headlight bulb (halogen) | 1,100.00 | 2,200.00 |
| | | GT #9 Plate No: SFW-795 | | |
| | | Engine No: 6BGI-664249 | | |
| | | Chassis No. FRR12DA-1203486493 | | |
| 1 | set | Radiator hose | 1,600.00 | 1,600.00 |
| | | SUB TOTAL 4 | | 89,780.00 |

IN WITNESS WHEREOF, we hereby affix our signatures this

ENGR. MOSS L. SIMBAHAN

Engineer II **BAC Member**

FEBY DAR C. MANGLICMOT City Veterinarian **BAC Vice - Chairperson**

DULCE AMOR E. LAO Planning Officer III

BAC Member

Atty. REY

City Legal Officer C Chairperson

NIELS. ACEDILLO

WILFREDO G. LANDICHO

JEROME R BAR ELONA JR., LPT

Administrative Officer V

BAC Member

in the City of Calapan.

City ENRO

Approved by:

MARILO MORILLO

y Mayor

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

BRIGHT AUTO PARTS REPAIR SERVICES

PHILGEPS Reg. No.

313093

| QTY. | UNIT OF ISSUE | ITEM & DESCRIPTION | UNIT PRICE | TOTAL PRICE |
|------|---------------|---|------------|---|
| | | GT #9 Plate No: SFW-795 | | |
| | | Engine No: 6BGI-664249 | | |
| | | Chassis No. FRR12DA-1203486493 | | |
| 2 | set | Side mirror | 1,500.00 | 3,000.0 |
| 8 | pcs | Bolt & nut stainless | 180.00 | |
| 1 | set | Clutch lining | 8,000.00 | |
| 1 | set | Wiper blade | 1,180.00 | |
| 1 | lot | Labor: pull down transmission & replace | 7,500.00 | |
| | | clutch lining | | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, |
| 1 | рс | Brake booster | 11,500.00 | 11,500.0 |
| 2 | pcs | Halogen bulb | 250.00 | |
| 2 | pcs | Toggle switch | 480.00 | |
| 1 | lot | Labor: repair of all brakes | 7,500.00 | |
| 1 | meters | Wire | 160.00 | |
| 4 | pcs | Eye terminal | 30.00 | 120.0 |
| | | ADVENTURE SGP-816 | | |
| | | Engine No: | | |
| | | Chassis No. | | |
| 1 | рс | Battery 3SM | 9,800.00 | 9,800.0 |
| 1 | set | Brake lining / shoe | 2,800.00 | |
| 1 | set | Brake pad | 2,800.00 | |
| 1 | lot | Labor: replace of brake lining | 3,800.00 | |
| | | GT #7 Plate No:SFW-777 | | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, |
| | | Engine No: 6BGI-68749 | | |
| | | Chassis No: FRR12DA-3526964 | | |
| 1 | lot | General repair of brake front & rear | 7,500.00 | 7,500.0 |
| | | | | |
| | | | | |
| | | SUB TOTAL 5 | | 68,560.0 |

IN WITNESS WHEREOF, we hereby affix our signatures this

ENGR. MOSS I SIMBAHAN

Engineer II

BAC Member

Dr. FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson

Approved by:

DULCE AMOR E. LAO Planning Officer III

BAC Member

Atty. REY DANIELS. ACEDILLO City Legal Officer

BAC Chairperson

ONA JR., LPT

in the City of Calapan.

Administrative Officer V

BAC Member

WILFREDO & LANDICHO City ENRO

OU F. MORILLO City Mayor

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

BRIGHT AUTO PARTS REPAIR SERVICES

PHILGEPS Reg. No.

313093

| QTY. | UNIT OF ISSUE | ITEM & DESCRIPTION | UNIT PRICE | TOTAL PRICE |
|-----------|--------------------------------------|---|---|--|
| 1 1 1 1 1 | UNIT UNIT UNIT UNIT UNIT | SUB TOTAL 1 SUB TOTAL 2 SUB TOTAL 3 SUB TOTAL 4 SUB TOTAL 5 | 242,830.00 93,760.00 131,340.00 89,780.00 68,560.00 | 242,830.00 93,760.00 131,340.00 89,780.00 |
| | | GRAND TOTAL | | 626,270.00 |

IN WITNESS WHEREOF, we hereby affix our signatures this APR 0 8 2025 in the City of Calapan.

ENGR. MOSS L. SIMBAHAN

Engineer II BAC Member

Dr. FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson DULCE AMOR E. LAO

Planning Officer III
BAC Member

Atty. REY DANIEL S. ACEDILLO

City Legal Officer BAC Chairperson JEROME R. BARCELONA JR., LPT

Administrative Officer V

BAC Member

WILFREDO G. LANDICHO

City ENRO

Approved by:

MARILOU FAVORILLO

Award 2021 v. 0